g 8 A A

SA g2
B 28|
Rl IEIHED|BES (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
can=P =g, 24,464,239 30,336,678 A5,872,439
= 1,841,946
[ 3,563,000
= 3,684,975
Ea 16,374,318
=B 11,200 1,639,122 A1,627,922
DL DEEE 11,200 1,639,122 1,627,922
zS M HIXA 11,200 16,900 Ab,700
202 04| 3,200 8,900 Ab,700
01 SLHoIH 3,200 8,900 A5,700
Ongds 220 3,200,000& 3,200
203 HE=H] 8,000 8,000
03 A= PR FAI| 8,000 8,000
Ong 3™ gRFa
8,000,000 8,000
INEFaa=P 5,991,205 6,055,555 64,350
= 1,600,000
[ 900,000
= 150,000
Ea 3,341,205
=12 A= oL (ZE A 3,300,000 1,600,000 1,700,000
= 1,600,000
o 1,700,000
AnELEAY FA 100,000 1,600,000 1,500,000
207 ARl 100,000 100,000 0
01 A S| 100,000 100,000 0
ONARE LTI =
100,000,000 100,000
H sE23Xel Z8At 3,200,000 0 3,200,000
= 1,600,000
= 1,600,000
401 AlEHIZ 201 3,200,000 0 3,200,000
= 1,600,000
Ea 1,600,000
01 AlZH| 3,200,000 0 3,200,000
O3d s&EE=Ael £
3,200,000,000& 3,200,000
= 1,600,000
o 1,600,000
CANY Z2dst & X2 2,691,205 4,455,555 1,764,350
s 900,000
== 150,000
o 1,641,205
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FA g P
3 II‘E'.E’%UH
Chel: SAITHA %’Sif EIONE! (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAWE X 741,206 752,555 A11,350
201 er23 | 45,515 40,460 5,055
01 At2teltl 25,115 22,280 2,83
OZAIM SEX2LE AR SX2 11,715
S48 ASgdatkLH
770,000& * 128 9,240
228 DAY SEX2HE
495,000 = 53 2,475
OZANY Let=+=ZH| 5,000,000& 5,000
O=12x3 AT =2
1,400,000& * 64 8,400
02 S3=gHl 20,400 18,180 2,220
OANES HS3dH ¥ Adg=lait &)
2= 3,200,000& * 63 19,200
OANEE Oi=8dH ¥ ddlgeEat =2
2= 200,000& » 62 1,200
202 0o4dl 5,600 4,800 800
01 =LHNHI 5,600 4,800 800
OFANY =N Ol
800,000 = 7& 5,600
307 212+01& 685,090 697,295 A12,205
05 2ItRIE = 685,090 697,29% A12,205
OXABLBINAME DI29IED
685,090,000 685,090
401 AlEHIZ 201 5,000 10,000 25,000
01 Al&H| 5,000 10,000 /5,000
OZAIMEAIE R 5,000,000& 5,000
28 SAIHY mEAME 1,500,000 1,143,000 357,000
[ 900,000
= 150,000
o 450,000
201 er2 3| 2,000 2,000
01 AtR2telHl 2,000 2,000
O A g Hite 2,000,000 2,000
207 ARl 22,000 38,000 216,000
[ 13,200
= 2,200
Ea 6,600
01 1= 22,000 38,000 16,000
OB ZOIAASIAI
22,000,000 22,000
[ 13,200
= 2,200
o 6.600

no
|




2A:

X XH -
o=

Eas=pl=mi}
INE=Fag=:P 1=y

Belr TAIHY 243 & X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 84,910 64,910 20,000
= 12,000
== 2,000
[Ea 70,910
02 LB HANHEE 20,000 0 20,000
OZAITHA X2 20,000,000 20,000
= 12,000
=S 2,000
s 6,000
05 2ItRIE = 64,910 64,910 0
OZ=8 DAY SIXN2HE 22t2E=
64,910,000 64,910
401 Al HIZ 01| 982,480 1,038,090 A\55,610
= 629,634
< 104,939
= 247,907
01 Al&H| 982,480 979,090 3,390
OUBY TATHY HLAI
982,480,000 982,480
= 629,634
[ 104,939
T 247,907
402 2I2F X201 & 408,610 0 408,610
= 245,166
[ 40,861
Ea 122,583
02 QI T2 AL EE (01X THE) 408,610 0 408,610
OZANY H==cl N2AE X F2US2A
& 408,610,000 408,610
= 245,166
< 40,861
[Ea 122,583
HEAHE & 2H5AE = 450,000 450,000
207 ARl 450,000 450,000
01 H1E4H] 450,000 450,000
OFANY 2l g 2S84
450,000,000 450,000
FeFX OHE 6,045,032 11,420,833 A5,375,801
& 100,000
= 5,945,032
g2 sEUS)| 6,045,032 11,420,833 /5,375,801
= 100,000
o 5,945,032
AR2FU=SRAL (XA 1,999,032 3,463,833 1,464,801

w
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SA: SEINE
Mm: HoT g
&t AIEE sEUSDI (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
202 04b| 3,500 3,500
01 2L Y| 3,500 3,500
OALARBAIEHRFR (4]
3,500,000& 3,500
305 A= S 3,000 3,000
01 =S 3,000 3,000
OAXTAABAIE a2 3,000,000 3,000
401 AlEHIZL L C0HY] 1,936,912 3,384,392 N 1,447,480
01 Al&HI 1,920,000 3,370,000 A 1,450,000
OAR2F0=RAAY 630,000
-S4 20121 MEEHIZAHA=130m)
40,000,000& 40,000
-S4 A2 2P X2 AHL=150m)
30,000,000 30,000
=22 9ote] =2 £ Hi=2 & H|(L=350m)
35,000,000& 35,000
=22 MEHe| =2 EEH(L=300m)
35,000,000 35,000
-A0] =532 A&EH|(L=4m)
30,000,000 30,000
-A0| Z0/22| 0=t AH|(L=60m)
30,000,000& 30,000
-A0] ==22] HH4=2 HdI|(L=70m)
10,000,000 10,000
-2 olc1el s2E& L Hi£=2 & H[(L=80m)
20,000,000 20,000
-2 0rs22] A EYI(L=75m)
30,000,000& 30,000
-2l 20ke| AIE A HI(L=100m)
20,000,000& 20,000
-ME =S12| =2 AHIAFZ (L=120m)
35,000,000 35,000
-l 212 0ISXYU2 ST E AN (L=120m)
35,000,000& 35,000
-CHA Z2=EH32] HH4=2 A H|(L=150m)
35,000,000 35,000
-CHA EHA9e| oFelesD|RaXl(14l)
35,000,000 35,000
- s4H2l BH=2 3] (L=100m)
40,000,000& 40,000
—abd HdA42] OISR 2 A H|(L=50m)
30,000,000 30,000
-2 M2 OFAZSML2I](L=400m)
25,000,000 25,000
_/&I;IE l2a| D'.o’“IEjI/\-i(‘] I)
35,000,000& 35,000
-M= =212] =2 A H[(L=100m)
10,000,000 10,000
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S BENZD
Ma: FoHK| e
o9l AD|ES SEES) (c

ST oo

~ - L=
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-22 AI=32| OtAZ RN I|(A=2,150m")
45,000,000& 45,000
—2=R A=22| tH4=2F I (L=73n)
25,000,000 25,000
OARZAIE HSAE & DSUAAMNY 100,000
-CHa 01212l =2 &
50,000,000 50,000
= YFRe S22 50,000,000 50,000
OarZAId RAI24|
1,000,000,000& 1,000,000
O4m2AE =g & EAS3H|
150,000,000 150,000
OATZSSAIE 22| 40,000,000& 40,000
03 AIZ S THYI 16,912 14,392 2,520
OFU=JAY =& 20
6,912,000 6,912
OA+E SSAIE otd 22| FHIYXZ
10,000,000 10,000
402 QI>F X201 & 55,620 70,913 N15,293
01 QI X2 AL E A (KEHITHE) 55,620 70,913 15,293
O84d 4022 OrSsl2 23 At
19,800,000 19,800
038 2332 OS2 23 At
18,000,000& 18,000
OZ= At=22| OtSsl2 23 At
17,820,000 17,820
MEISHAIL HEAI(EX) 100,000 272,000 A172,000
= 100,000
401 Al HIZL S 0HYI 100,000 272,000 A172,000
< 100,000
01 AlZ2H| 100,000 272,000 A172,000
Ot 2422 Dt=erd EH|
35,000,000& 35,000
== 35,000
Ottd “&@11el =2 &t
20,000,000& 20,000
== 20,000
Od3 2412l DSz =H2H
20,000,000 20,000
=S 20,000
Ozg= a2l =2 &4
25,000,000 25,000
S 25,000
AMNUE S5 SHUSI(ARE ISS3AY) 3,873,000 7,650,000 A3,777,000
401 AIZHIZ SO 3,097,000 6,694,000 /3,597,000
01 Al&H| 3,097,000 6,694,000 A3,597,000




2A:

Eas=pl=mi}

B Forn) e
o°e: AD|IE2 sERSD| (S &S
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Oatatllilz =5t S40t=D| 2,797,000

-S4 2462 OFAZSEMN 2T (A=400m")

13,000,000& 13,000
-S4 SU42] A2 OFAHIHE A X (L=500m)

28,000,000 28,000
=24 =822 =2E& L 224 X (L=140m
) 55,000,000& 55,000
-S4 5322 XNENHSAL

5,000,000& 5,000
-S4 A0122| OFAZSMR2T|(A=1,800m")

51,000,000 51,000
-S4 A0122| IS E==2HHZ2AHA=350M)

12,000, 000& 12,000
-S4 ste2e| or2SI|24A X

25,000,000 25,000
-S4 AIE12| OISt OIAZ M| (A=,
560m*) 50,000,000 50,000
-S4 AHA12] OF= ek "I (L=150m)

50,000,000& 50,000
-S4 &M12] =2 & HI(L=140m)

15,000,000 15,000
-S4 A012] s2EZ(L=120m)

20,000,000 20,000
-24 A0i12l =2 &I (L=75n)

15,000,000 15,000
-=2 #ix2el =2 -] (L=200m)

50,000,000& 50,000
=22 =2l s2ZH(L=300m)

45,000,000 45,000
=22 2322 o1 =4 X (L=300m)

70,000 000 70,000
=22 HM12] OtAE M)

30,000,000 30,000
22 MRl BXA 4

10,000,000 10,000
-A0] 32| HH4=2 HdI|(L=50m)

40,000,000& 40,000
-A0] &322 AME= A X (L=90m)

46,000,000 46,000
-20] EE32] 0tAZ MR ZAHA=600m")

14,000,000 14,000
-A0] CHA22| OtAR SN 2D ZAHA=4,820
m) 100,000 000 100,000
-2 GHEH1el b2 & HI(L=280m)

40,000,000 40,000
-|et =222 M=Kl SdIZ2 =2 FH|(L=3
80m) 40,000,000& 40,000
-2 =32 Hatx 22 MH|(L=46m)

20,000,000& 20,000
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A =g
X‘Iil-l: _‘_lotxl thé
ool AD|ES SEOS)) (Stol: ® 2
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
-2 SAe| Hi2=2 2 AHL=150m)
40,000,000& 40,000
-4 BH2e| OISR OFAZ I A(L=180m)
45,000,000& 45,000
-2l AL2| OFAR SM2T((L=500m)
35,000,000& 35,000
-2t 20ke| MIAE A HIZ2AHL=60m)
30,000,000 30,000
-2 22432 HMIgHE 2 I AH(L=300m)
50,000,000 50,000
-t 20442 =2 A2 AHL=430m)
100,000,000& 100,000
-2t XE12| OS2 ZAH(L=100m")
23,000,000& 23,000
-2 A2 S 2T E(L=180m)
30,000,000 30,000
-4 032l =2 ZA(L=200m)
60,000,000& 60,000
-ME MA12| HIDFRISE AXIAFY (1)
10,000,000 10,000
- AA1E] OtAE SMLRD](A=1,000m")
50,000,000& 50,000
- AE1E| 0SS0t OFAZ I EANS (A=40
om') 10,000,000 10,000
WS =EI12] OIS 01 SILIAI! (A28
56,000,000& 56,000
-CHA EHA422] DFSQHY OIAZ M| (A=2,
0oom*) 68,000,000& 68,000
-t AM2el 0FSot2 OFAZSEMR2D[(A=D0
om) 25,000,000& 25,000
-CHA 222 OISt OIAZ MR (A=2,
200m*) 50,000,000& 50,000
—CHA 2=EH32| HH==2FHI(L=250m)
100,000,000& 100,000
-AAd AAq el OFsSot2 =Y (14))
50,000,000& 50,000
—ar EA22| BH4=2 -] (L=200m)
70,000,000& 70,000
At & 12 B2 FHI(L=250m)
50,000,000& 50,000
—Ad 2E3e] OFee=0|F 2 HIDIEAXI(
141) 40,000,000& 40,000
—AbAd FEH32| OFSOHY A (L=150m)
60,000,000& 60,000
-4 THARZ] OF2 I =Y
70,000,000& 70,000
-2 22| OlSale T - (14l)
70,000,000& 70,000




SA: S
X‘I}_(H: _‘_lotxl thé
&t AIEE sEUSDI EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
M3 2Rl A0 BE(14)
15,000,000& 15,000
-2 QM2 Otk SILAH(L=200m)
66,000,000& 66,000
-2 QMPP| DISHISEAXISA
10,000,000 10,000
-2 E312| OLAZHMRI|(A=476M")
10,000 000 10,000
~M2 CAIZ| OFAZ T M I (A=2,000m)
60,000 000& 60,000
-M= A2l B2 E-I(14!)
40,000 000& 40,000
-M=2 AlQk2| OLAZ M RI|(A=2,666M)
80,000 000 80,000
-3 A2 OFl23 01+ L HIJIEAIE
AXI(14]) 20,000,000& 20,000
-2=2 Q842 =2 &U|(14])
90,000,000& 90,000
22 2&22| 0fA2 MHEE(L=180m)
40,000,000 40,000
23 2&E22 sZEE(L=250m)
60,000,000& 60,000
&= Fae| JIBtAIE EHI(14])
100,000,000& 100,000
2= &3de| 02 8! (L=100m)
100,000, 000& 100,000
-22 2&12/ =2 FHI(L=200m)
70,000,000& 70,000
OLAZAIE 2 L 29|
300,000,000& 300,000
402 QIZERH=0IN 776,000 956,000 180,000
01 QIZERH2 AN 2 2 (RERITH ) 776,000 956,000 180,000
Os4d =&l 0232 E4+3A
64,000,000 64,000
Os4d H=2c| Ot=212 B dXI3A
42,000,000& 42,000
O28 2332l O3 BaY EX3A
40,000,000& 40,000
O3 9okl Ot/ BEY AXI3A
35,000,000 35,000
O=& T332l D=2 B dXI3A
38,000,000& 38,000
028 712l Oissl2 B EXI3A
35,000,000 35,000
O=a A=12| Oi=sala BEY EX3A
35,000,000 35,000
Odd 2d1e| iS22 B dXI3A
100,000,000& 100,000




2A:

Eas=pl=mi}

B Forn) e
el AIIES sEUS (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Oz &3 0232 E3At
22,000,000& 22,000
Ods S8l Dt=al& FAEF-AE
22,000,000& 22,000
Ol d&2¢2 0232 el2gE
50,000,000 50,000
Ol 2&1el 0232 2|22
50,000,000& 50,000
OM= xrHeel o232 e|2gd
78,000,000 78,000
OZ= 2&5e| 0232 23 At
55,000,000& 55,000
OZ= 28He| 0232 E3At
10,000,000 10,000
o= =g1el o232 2|2g
100,000,000 100,000
ad=RIs2t 2G(RHA) 73,000 73,000
201 Zet2 & 3,000 3,000
03 HAH2ZHI 3,000 3,000
Ottd Se2tdE HESA =34 2
H2A (=S 3,000,000& 3,000
405 KHAHF SH 70,000 70,000
01 ML ESHSHI 70,000 70,000
Oddd Sg2E =57
70,000,000& 70,000
sIEtEd 10,680,797 9,938,769 742,028
= 241,946
[ 2,663,000
== 3,434,975
= 4,340,876
SEIIENE &F 10,680,797 9,938,769 742,028
= 241,946
s 2,663,000
S 3,434,975
[ia 4,340,876
SYIBAIE 29 127,376 62,569 64,807
201 23] 71,935 27,360 44,575
01 AtR2telbl 28,935 16,000 12,935
O==Mi =& & SI)==8
5,000,000& 5,000
Og422z dojerdae] = (5~102)
150,000& * 62 900
OZSi=EIZa MO|otMzte| = (1~12
) 200,000& = 128 2,400
OD-0AS B2 = AI2==H| 7,700,000 7,700




oI
sgolgtxy
SIBAIE &F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OM==Xl =& At|
109,400 * 42002~ 4,59
o2y +=ZF Al 69,5002 * 120002 8,340
02 S3=gHl 43,000 11,360 31,640
O&=ZHIEd| 3,000,000& 3,000
Ot=+EZZ 2Z23(&I| & e
2,500,000& 2,500
OHi+EIE 2oIHIAIAL
2,500,000 2,500
O=clH ST dIIg
35,000,000& 35,000
202 04| 6,912 7,680 AT68
01 SLHoIH 6,912 7,680 NT68
sgolgt 2= 0| 6,912,000& 6,912
305 Hia =S 6.529 6.529
01 =S 6,529 6,529
Od=XM=X &= 6,529,000& 6,529
401 Al HIZ S OHbI 42,000 21,000 21,000
01 A28l 42,000 21,000 21,000
OJts2 =284 20,000,000 20,000
OM==X =CHIINZRA= =& S
22,000,000 22,000
SYALD|BHEH| ALY 362,000 617,000 255,000
308 AtXIEMSOIH 162,000 0 162,000
18 SIS0t oA AS A 162,000 0 162,000
OM4X| QEE ISl (42044)
162,000,000 162,000
401 AlZHIZ SO 200,000 565,000 A365,000
01 AlZ8| 200,000 565,000 A365,000
OB &M 842 +28X SAHIHL)
15,000,000 15,000
O3 W&12l =2 FH-8I3AHL=500m)
80,000,000& 80,000
Oyg &s12l =2 FHISAHL=420m)
50,000,000 50,000
OUs A2l ottt =EHAY (L=45m)
30,000,000 30,000
OM= 24422] Hi+=2 HHISAHL=100m)
25,000,000& 25,000
Fe|AlE IHE AL (HEALY) 775,000 800,000 A25,000
= 697,500
o 77,500
401 AlZHIZ SO 775,000 800,000 A25,000
== 697,500
o 77,500

—




SN RN
g syolgtxy
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 775,000 800,000 A25,000
OBUXT “2AEH2+
300,000,000& 300,000
= 270,000
Ea 30,000
Oz 12X7 ==clAIE2+
300,000,000 300,000
< 270,000
Ea 30,000
Os4d Ms+=fF8I| EXAg
175,000,000 175,000
= 157,500
Ea 17,500
YR T HFEZXE A (HEALY) 1,293,000 1,293,000 0
== 1,163,500
[Ea 129,500
401 AIEHIZ R HYI 1,293,000 1,293,000 0
< 1,163,500
T 129,500
01 Al&H| 1,293,000 1,293,000 0
O+ WAZXEelA
1,293,000,000& 1,293,000
= 1,163,500
Ea 129,500
KES SAML(HEALY) 600,000 1,205,000 605,000
401 Al HIZ R 0HbI 600,000 1,205,000 605,000
01 AlZ28| 600,000 1,205,000 605,000
OXIﬁ—’F—_‘?‘_DUHU*[%* =32 2 g4l
S AHL=270m)] 40,000,000 40,000
OIIﬁ—’#—_‘?'_DUHm[:% Qu1el B+ Yl
S AH(L=300m)] 80,000,000& 80,000
OXIES2ME[A0] HidHel SSE2EN
L3AHAXIF)(141)] 30,000,000 30,000
OXE=2ZIHL[A0] 12 E+2 FH|
ZAHL=80m)] 60,000,000 60,000
OXE22ME [0 8822 2 FH
S AHL=50m) ] 15,000,000 15,000
OXE=22ML[e stgee] E+2 F|
S AHL=300m)] 60,000,000 60,000
OXE==EML[HA 2742 =2 FH
S AHL=230m)] 25,000,000 25,000
OXNEE2HL[ad 4812 8 - 2
ZHIZAHL=300m) ] 70,000,000& 70,000
OXHE+2LHL [M= gaoe] SS2AFN
EEN 30,000,000& 30,000
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oI
sgolgtxy
SHIIBAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXE+2ZHL (M= B2 2 - =2
U1 2 AH(L=90m) ] 40,000,002 40,000
ONE4SNL (L2 M=32| SN
EEN 40,000,000& 40,000
ONE2ZHL (2= cEiel SE2EN
2(1A1)] 30,000,000& 30,000
OXE=22HL (2= B2 2 - 2
ZHISAHL=390m)] 80,000,000& 80,000
ISl sEEIIEAIE€ EBIAY 220,000 300,000 80,000
=S 66,000
s 154,000
401 Al HIZ R 0HbI 220,000 300,000 80,000
== 66,000
[Ea 154,000
01 Al&HI 220,000 300,000 280,000
OJtsUHl sHE= JIEAE FHIAY
220,000,000 220,000
= 66,000
= 154,000
SI1BHEHl RAEAY 330,000 555,000 A225,000
401 AlEHIZ 201 330,000 555,000 A225,000
01 AlZH| 250,000 455,000 205,000
OsYUADIBIAIE FRIE 4]
172,000,000 172,000
OsHHLT|BHEHIAIE HI=&
35,000, 0002 35,000
OR4X HYIHTTEA (HBHLK)
43,000,000 43,000
03 AIESTHYI 80,000 100,000 /20,000
OsYHLDIBAIE =Xl2el AIZ20HI
80,000,000 80,000
LEX T MHAEMEXR(ASIIS) ZHIAY 3,600,000 400,000 3,200,000
= 1,800,000
=S 900,000
s 900,000
401 AIEHIZ SR THYI 3,600,000 400,000 3,200,000
[ 1,800,000
= 900,000
[Ea 900,000
01 AlZH| 3,600,000 400,000 3,200,000
O24 MAHAZMLXIF(ASIHS) FHIA
e 3,600,000,000& 3,600,000
[ 1,800,000
= 900,000
Ea 900,000

—




SA oEE
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Tt Mol A M=Kl EHIAI 500,000 400,000 100,000
= 250,000
S 125,000
T 125,000
401 Al HIZL S 0HYI 500,000 400,000 100,000
= 250,000
S 125,000
ia 125,000
01 AIZHI 500,000 400,000 100,000
0722 WHPIEHEX ZHIA
500,000,000 500,000
= 250,000
S 125,000
i 125,000
e HollAZ M=Kl EEIA 1,126,000 500,000 626,000
= 563,000
s 281,500
i 281,500
401 AIZHIX 20HH 1,126,000 500,000 626,000
[ 563,000
= 281,500
[Ea 281,500
01 A& 1,126,000 500,000 626,000
O WHFIE =T HHIAIL
1,126,000,000& 1,126,000
[ 563,000
= 281,500
[ia 281,500
HYUZ A= SHUSI(sEIIEHEHI) 1,214,000 1,813,000 599,000
401 Al HIZ S 0HbI 1,214,000 1,813,000 599,000
01 AlZHI 1,214,000 1,813,000 /599,000
O=g &2 s22E S AHL=200m)
30,000,000 30,000
O=2g =»Zcl SSHYA =2 & alAl
Xl SAH14]) 70,000,000 70,000
O=& 2312l =2 % =2 FHISAHL=400
m) 70,000,000 70,000
O= uis2el 42 FHISAHL=620m)
50,000,000 50,000
O=g &=12l =2 FHISAHL=100m)
30,000,000& 30,000
O=& #Hi3el === FHISAHL=200m)
50,000,000 50,000
O=& =012l =234l ¥ 2 SEXI(L=150m
) 40,000,000 40,000
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SA SN2
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OA0] E&12l =2 MHE Z2AHL=220m.B=3n)
70,000,000& 70,000
OA0] E&12] ti+=2 FHISAHL=170m)
30,000,000 30,000
0401 522! =2 HHIZAHL=150m)
30,000,000 30,000
O%Y 5te3el =2 FHISAHL=255m)
50,000,000& 50,000
OUs EE12l 0tStd SEE ZAHA=240M)
80,000,000& 80,000
OUs EE12l =2 FHIAZ (L=80m)
20,000,000 20,000
OYs AF32| OtAZ HMRI| SAHA=2,700
m) 57,000,000& 57,000
OUs #H32l ti+==2 FHISAHL=100m)
43,000,000 43,000
Ol 24t s2 SEZE SAHL=1,800m)
100,000,000 100,000
OCHA EHe432| OS2tz EHISAHL=100m)
100,000,000 100,000
OlA A4221(S22) Bi+=2 FHISAHL=100
m) 50,000,000 50,000
Ol AXNZ2I(ELISHDI) ti===2 ZHISA
(L=80m) 25,000,000 25,000
Ot 2212l B2 FHISAHL=170m)
50,000,000& 50,000
O&td tHE 12l OtAE R LI BAHL=1,500m)
50,000,000 50,000
Odtd 8422 0+2 M2 FHISAHL=120m)
45,000,000 45,000
Odtd HE12l OtAZ IANRI| SAHL=450m)
45,000,000& 45,000
OZ= 2&52| =2 FHISAHL=30m)
29,000,000& 29,000
Sl |7&HZ 283,421 0 283,421
= 241,946
= 41,475
403 X SHHMSAH=01H 283,421 0 283,421
= 241,946
== 41,475
02 SISOt =& P E A I 283,421 0 283,421
Ozl =S+2E 283,421,000 283,421
= 241,946
= 41,475
2= MolAS M=Kl A 100,000 0 100,000
[ 50,000
= 25,000




SA oEE
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 25,000
401 AIEHIX 20 100,000 0 100,000
[ 50,000
= 25,000
= 25,000
01 Al&H| 100,000 0 100,000
02z MalAS M=K HBIAS
100,000,000 100,000
[ 50,000
= 25,000
= 25,000
22 B S AN 150,000 0 150,000
= 135,000
o 15,000
401 AlZHIZ SO 150,000 0 150,000
== 135,000
o 15,000
01 Al&HI 150,000 0 150,000
O2= Bi==HEA 150,000,000 150,000
< 135,000
s 15,000
HH2LZH(FEMHLD) 46,006 45,770 236
Jl23I(Z e ) 46,006 45,770 236
JI23Hl 46,006 45,770 236
201 et 3| 30,286 28,670 1,616
01 At2t2l] 28,574 26,958 1,616
Oget=ZH] 6.,431,000& 6.431
Or==1:] 7,680,000 7,680
OSAPI itz 330,000& = 1CH = 128 3,960
O&=)| gitz 51,9008 = 123 623
OCddg&H 42F 4| 9,880
-2 ey 7,920
g 7,040,000& 7,040
== 8380,000& 880
-t RIE 1,600,000 1,600
—+AX 360,000 360
2 35244l 1,712 1,712 0
OBHHY| S22t 1,712
LIS A1)
1,300,000 = 20CH * 5% 1,300
-ZelH 4,000,000& * 5CH * 2% 400
—FAX 600,000 = 1CH * 2% 12
202 04l 4,320 4,800 A480
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